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TNSTRUCTIONS

This Paper eonsists of tuo Seetions, Seetion I in this booklet" and Seetion lI
in a eeparate booklet. Both Seetione eawy equal ueight. Iou are ad»ised to
spend, about 45 minutes on eaeh Seetion.

SECTION T

There are 30 questions in this Seetion mL gou ehould attentpt them aLL.

For eaeh question there are 4 euggested an*üe"a. Read each question earefully.
Vhen you haue eelected the ansue? you consider to be the beat, indíeate your
ehoiee on the ansüey aheet prooided. Choose only one ansúe" fon eaeh question.

Iour score for this Seetion uill depend on the total nmber of eorreet cnsuers
you giue.

ALL AITSWERS MUST BE GIVEN ON lHE SPECIAL ANSWR SHEE?

Th i s bookl et cons i sts of 1 I pages. TUR OVER
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Study the above diagran and answer questions I and 2.

1. The organ labelled X ls

A. the thyrold.

B. the larynx.

C. the oesophagus.

D. the piüuitary.

2. The organ I abel I ed Y. I s

A. the sücrnach.

B. the dlaphragrn.

C. Ehe liver.

D. the pulnpnary wal I .
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The hearü sends or¡t

A. deoxygenated blmd vla the aorta and oxygena¿ed blood vla the
pulnonary arterles.

B. deoxygenated blood vla the pulnrcnary arterles ar¡d oxygenated blood vla

c.

Ehe aorta.

oxygenated blood vla the
the venae cavae.

oxygenated blood vla ühe

pulrpnary velns and deoxygenat,ed blood vla

pulrrDnary velns and via the aorLa.

norrnal hurnan, the average nurber of red cells per rm'of blood ls

one.

700.

5 000.

5 000 000.

In ühe pulnonary alveol l, lhe alr ls ln contact. w¡th

A. pulrrrcnary al veol ar cel I s.

B, lhe wal I of the b¡ood capl ¡ ¡ aries.

C. the bl ood .

D. the red cells.

The lolest energy expendlture ln kJ/m2124 lt ls that of

A. a l0-year-old boy.

B. a l0-year-old glrl .

C. a 60-year-old rnan.

D. a 60-year-old trlqnan.

5.
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7. To bulld thelr protelns, humans

A. are capable of synüheslzlrg all the necessary anlno aclds.

B. are Incapable of syntheslzlng any of the necessary anlno aclds.

C. use unchanged the proBelns ln thelr foodstuffs.

D. are capable of synLheslzlng scrne anlno actds but have to use oLher
anlno aclds provlded by the food.

10.

In the male of the hunan specles, a secondary sexual characterlstlc ls
control led by

A. a gene on the X chrqrcscnp.

B. the rnale gerrn cel ls.

c. the rnale honncnes.

D. a gene on ¿he Y chrcnrcscne.

A thyrold hornpne acts on the hypothal¿rrus. The latter acLs on the
anLerlor pltutt,ary ¡vtrlch secretes less thyroLropln (thyrold-s¿lm¡latlng
hornpne). Thls ls an exarple of

A. a reflex arc.

B. feedback congrol.

C. thyrold deflclency.

D. a physlologlcally lrposslble process.

The maln honrsre lnvolved ln labour (chlldblr¿h) ls

A. FSH.

B. prolactln.

c. lll.

D. oxytocln.

9.
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11. It ls found that I ¡rm of an obJectlve mtcrqr¡eter correrpo.,a, ¿o i
graduatlons of an eyeplece mlcrsneLer. The actual slze of a cel I reasurlng
0.2 graduat¡on of the eyeplece mlcrsneter ls

S. ,.1 rm.

B. 513 wn.

 C. 1i vn.

L2. The process vvhereby large partlcles are lncorporated lnLo a cell ls knorun

A. plnocytos ls.

B. d I ffus lon.

,. osrpsls.

D. phagocytosls.

L3. The four nr¡st abr..¡ndant che¡nlcal eleren¿s ln I lvlng rnatter are

B. carbon, hydrogen, nlt,rogen, sodlun.

C. oxygen, carbon, hydrogen, nl¿rogen.

D. carbon, phosphorous, sulphur, poLass¡un.

14. The lack of a red preclpt¿ate when urlne ts heated wlth Fehllngrs (or
Benedlct,rs) reagent lndlcates the absence of

A. ¡ lplds.

 B. prote¡ns.

C. reducing sugars.

D. urea.

TURN OVER
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15 . The d I agran be I cn^, srrrr¡ar I ses the stages
maTn¡al lan skeletal rnJscle.

M87 /410/5(1-I)

I n the rnetabo I f srn of g I ucose in a

G I ucose

1+

2-oxopropanolc acld
(= pyruv lc ac I d)

5+

l."tyl CoA

4+

coz , Heo

Wh I ch of the fol I qrl I ng a I üernat I ves corresponds
glycolysls?

2- hydroxypropano I c ac id
(= I act lc ac Id)

2
+

to the stage(s) I nvol ved ¡

and

and

D. L, 3 and 4

16. A mlcroscope preparatlon ls rnade by arranglng a fllanent,ous green alga
drop of a culture of a soll bacterltrn, Bacterlum ternro. The natural I
used in the mlcroscope ls spl lt by a prlsrn before Illr-mlnatlng the
preparatlon. After a certaln tlme, the fol Iowing disLrlbution of the
bacteria is observed:

t.\' : green a I ga

A.

c.

B.

In a
I sht

1l

,T '-ii:
i'Í-E{E, ¡\'-

,.4
-?o.)ia

1-,.r'a..- | : t

Red Orange Ye I I ct¡l Green Blue Ind lgo Violet
I lght
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20. The centrorpre of a chrqrpsorp ln mltosls dlvldes ¡nnEdlately after

A. lnterphase.

B. prophase.

C. retaphase.

D. anaphase.

21. l-loru rnany chrsnatlds are there ln a hrman cell ntrcleus ln prophase I of
ne los ls?

A. 92

B. 69

c. 46

D. 23

22. In the hunan specles, the sex of a chl ld depends on

A. the exlstence of tr¡o sorts of sperrnatozoa.

B. the preclse nrcnent of fer¿ll lzatlon wlth respect f,o ovulaLlon.

C. the exlstence of trryo sorts of ova.

D. the placen¿al hornpnes.

2r. Alblnlsrn Is a plgrrenLat¡on defect controlled by a recesslve gene. Ilhat ls
the probablllty that 3up alblno parents rnay have a nonnally plgrnented
chlld?

4.0

B. L/4

c. L/2

D. I
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24. Tr¡p lr¡dlvlduals AA bb and aa BB are crossed, the genes A and B not belng
I lnked. In wtra¿ proportlor¡ wlll the hybrld obtalned produce garEtes AB?

A. L/2

8.0

c. g/15

D. LI4

25. A¡ncLher has a chlld of blood group O. The father canno¿ be of group

A. A.

B. B.

C. O.

D. AB.

26. A aquartun ln equlllbrlun can be cstsldered to be

A. an ecosys¿em.

B. a-comrunlty.

C. a popr¡¡a¿ ¡on.

D. an ecologlcal nlche.

27. In a certaln habl¿at at a glven nurent, a blologlcal ccnm"nlty ls best
deflned as an lnteractlng asserüly of

A. lndlvlduals.

B. ecosys¿€rts.

C. producers.

D. popt¡l aL lons.

TURN OVER


